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Candidates have been called for written test based on the data furnished by them in the online application. If
you do not possess the required qualification as per our advertisement, your candidature will be summarily
rejected.

2. 3ok fome F # & ugel Al gRA-gfeas UF 3 A IR SeaR-efe A R v Rt @ e
| UG ol

Candidates should read carefully the instructions in the Question Booklet and OMR Answer Sheet before
start answering.

3. W9, 80 WAl & WY WA-YREAH & w9 # §, Tevar oot Wemad § qur gcds gvad 1 3w @
fores ar fawed §, o9 & Fad v fAFer a8 2l
The question paper is in the form of Question Booklet with 80 Objective type questions based on

the curriculum, carrying one mark each with four options indicated, out of which only one will be
unambiguously correct.

4. afdEt @ 3 @ AR Seer Afe 7 Rl AT sl & RN, 3 U 3R Seak e #F Hor gerer @
wTeN/aHTelT TGN & el 916C UeT A Hlell ISP TGT el FH TIT FT Bl

Candidates have to select the right answer by darkening the corresponding bubble on the OMR answer
sheet by blue / black ball point pen only as per the instructions given in the OMR ‘answer sheet.

5. uee qfeder # ¥ a0 wue Wl e A ud wAe R
Candidates should write their Name and Roll Number in the space provided in the Question Booklet.

6. WAl H ek A & AT 3HewT ¥ UF 3 vH IR MNe v dar Smar §
A separate OMR sheet is provided for answering the questions.
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As the OMR answer sheet is being machine scanned, utmost care should be taken while handling / bubbling
answers. No spare OMR sheet will be provided.
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Question Booklet Code (A/B/C/D/E) printed on the top right corner should be written in the space
provided in OMR Answer Sheet.

T TR 1 3 F §, oK A & W YT 3% AR T IR F T 0.33 HoneHs 3| R woe

F TF F 318F Ica¥ ITd 3ca] AT ST

All questions carry one mark each, zero mark for no answer and negative 0.33 mark for a wrong answer.
Multiple answers for a question will be treated as a wrong answer.
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Calculators, mobile phones, smart watches, headsets, reference books, logarithm table, Camera / Spy
Camera or any other electronic gadgets will not be allowed inside the Examination Hall. If caught red hand,
they will not be permitted to write the exam and such OMR sheet will not be evaluated and legal action as
deemed fit will be initiated against such Candidates. Instructions in this regard, already published in our
website may strictly be followed.
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Space available in the Question Booklet can be used for rough work.
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amﬁﬂwﬁgg&mémsmgwﬁﬂzwﬁmﬁmﬂﬁwwmaﬁmmaﬁtmﬁm
AT FEyE a6l TR

On completion of the written test, tear off the OMR Answer Sheet along the perforation mark at the
top and hand over the original OMR Answer Sheet to the Invigilator and retain the duplicate copy
with candidates. Utmost care should be given while tearing the OMR Sheet.

ettt e WA g & aG Fad ThET Gler BIg 1 3EALT )

Candidates will be permitted to leave the Examination Hall only after completion of the examination.
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Foret 3reafeial o waer o ddE @ g WO ¥, S 3w AR ofie W AeaiE & v fAuR A
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After the Examination, candidates should hand over OMR Answer Sheet and signed Admit Card to the
Invigilator. OMR Sheet of candidates, who have not handed over the Admit card to the invigilator, will not be
considered for evaluation. Responsibility rests with the candidate to hand over the admit card to the
invigilator without fail.
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The questions in English version alone will be taken as authentic though questions are given in Hindi also for
the convenience of the candidates.
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THeIh HeIF (ATEAESd) / Technical Assistant (Automobile)

“" T AT dd10, I
Find the value of “x” when

o B |

a 4 2=0
-7 3 0
(a) 1/2 (b) 3/2
(¢ 1/3 (d) 2/3_

fecfice &1 A §

The value of determinant

1-a 2 1-a

(a) l+a (o) 7
(© 0 (d) 3"1?:5&;01?1' qa ?ﬁ'é' 6T / None of the above

sin 840° & AT & I

The value of sin 840°

(@ 1 ®) 1/2
© 312 | @ 142

cos 50° cos 40° — sin 50° sin 40° FT AT &
The value of cos 50° cos 40° — sin 50° sin 40° is

(a) 3/2 ()  1A3
() 1/2 (d) 0

FE A FIH F AR, TS AT AEAQT HAE FT G5 AT Tedd  ATelaes
aTEe I ¥ gafsad gl amfgu

As per the central Motor Vehicle rule, every goods carriage carrying goods of dangerous of
hazardous nature to human life shall be fitted with

(a) EGR () SUPD
(¢ RUPD (d) TR Usetarelr/ Spark arrester
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AR # o @ VI f@as Qe femar |

In India BS VI norms was implement:ad with effect from

(a) April 01, 2020 ()  April 01, 2021

(¢) April 01, 2023 (d) 39dFd # ¥ FI3 6T / None of the above

9E de o TiRe ®  § A&7 gear o § 3R O AT 9 ¥ SEr ST g § 3R
THET AT 38 YeR O fRar orar § R sger s 3 3hT gl § 3R S aster @
HIIT FHeI-dTeel SaRT a6l Rl SITell & ETCIGINS

The vehicle not mechanically propelled and indented to be connected to a motor vehicle and is
so constructed that a portion of it is super-embossed on and part of whose weight is born by
motor vehicle is called

(a) <&/ Tractor (b) E‘\.T-IT/Trailef )
() JFHI-ColX/ Semi-Trailer (d) eFeT T/ Tractor trailer

10.

HT AT B

is the representation of

(a) 9=H T 98T / First angle projection

(b) fadr HIoT 9819 / Second angle projection
© qd= 0T ¥elT / Third angle projection
(d) ﬂ?f? FIUT 9819 / Fourth angle projection

QAT & TH S A= 8T g1

Unit of viscosity in SI unit is
(2) ggoT Yhus/Hr/ N.s/m? (b)  fFam Awvs /A / Kg.sec/m?
(¢) warmd/ Poise (d) ¥+ / stoke

& HROT a1 AT 4 INATHR SR AT gl

Rain drop acquire spherical shape due to

(a) TISAA TI e W/ Cohesion and surface tension
(b) TTS UG 3RAeisT / Cohesion and adhesion

(c) W/ﬁ}b’ dalid / Adhesion and surface tension

(d) Yt Teid / Surface tension

4 754-TA(A)



11.

12.

13.

14.

15.

AfeFd 1 fadfT &= gl

Dimensional formula for power is;

(a) MIL? (b)  MI2 T2
(@ ML2T? @ MLT

1S Wus A A 379 F Tadr § 3R 5 AFvs F 20 m/s N T Ued H Hl G aF
AT §; ar SHeAT caXoT gl

A body starts from rest and covers a distance by acquiring a velocity of 20m/s in 5 sec, Then its
acceleration is;

(a) 4m/s (b) 100 m/s?
(¢) 4m/s? (d) 100 m/s .
qof 3rdfe aEde #i od &

The conditions for total internal reflection are;

(a) SH-faoT gud & foRe @teadw & a3 Ay 3R adsd HIoT wifde IoT &8t &/

Light ray must be travelled from denser to rarer medium and angle of incidence must be
greater than critical angle '

(b) weTr-fReor T ¥ U ATEIH F ITAA Y 3R 3IT FI0T it HIoT I §27 g/

Light ray must be travelled from rarer to denser medium and angle of incidence must be
greater than critical angle

(0 Wepr-foor fater ¥ Woel #A1ed 7 I3 &Y 3R IT=T HI0T Sifdes HIoT F BIST g/

Light ray must be travelled from rarer to medium denser and angle of incidence must be
lesser than critical angle

(d) 3'@_-‘!37:1'_(-!' H ¥ #I1S 61/ None of the above

EEDNIDEAECEY & fOcyled 9 HH T ¢
The optical fibre works on the principle of

(a) WRTEd / Reflection

(b) 3T9ade / Refraction

(¢) (a) 3R (b)ari/Both (a) and (b)

(d) t,r\cr‘r 3afe 9ade / Total internal reflection

TH 377§ YOTell # Yrdehrd HTHaTE (0) T HAHh gl
The unit of Magnetic flux (0) in SI system 1is

(a) d&X/ Weber (b)  TTET/Tesla

(¢) HeFgad/Maxwell (d)  FerFa/ Coulomb

5 754-TA(A)
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17.

18.

19.

20.

SIAlSH & FARIOT T IO rwgor §
Mathematical representation of Bernoulli’s equation.
n 2

() £+i+z:constant (b) %+U—+z=constant
w 2g w
P v? pz v

() =+—+2z=constant (d) —+—+2=constani
w 2g w 2g

Wmﬁmaﬁmmﬁﬁﬁﬁaﬁ@ﬁﬁéﬁaﬁﬁﬁm%mﬂ#ﬁvﬁmﬁ

o foraet 3UAeT fRar Srar §2

Which of the following is used to measure the difference in pressures between two points in a

pipe, or in two different pipes?

(a) WSHRY/ Piezometer ‘ o
() THA Didd AT/ Single column manometer

(c) 3Mdee FAAIHET / Differential manometer

(d) 3‘[{533—?—[ 7O Eﬁé el / None of the above

el Tt 1 AfRrse J1 - & & 7 FEla R e g
The specific speed of a turbine is represented as
NP NP
@ NP B S
H H*
NVP NP
© = @ :
4 H‘Z
dUHIE &1 3T — A9 & T fRr e ¥
A venturimeter is used for measuring
(a) &g/ Pressure (b) warg &3/ Flow rate
(© oo a1/ Total energy (d) &9/ Velocity

YCERTTAR ol Ueh FATS & & & &7 ol &, o
Kinematic chain is known as a mechanism when

(a) ®Z M i WRaT 7E &/ None of the links is fixed
(b) HIE T ToiF ARTT &/ One of the links is fixed

(¢) al € e fAfRaa &/ Two of the links are fixed

d) T o AfRaa &/ All of the links are fixed

754-TA(A)
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22

23.

24

frdll o7 So & Rfeest & R & afa HT 3BT g

The motion of a piston in the cylinder of a steam engine is an example of

(a) Cj'\Urr ®T ¥ STGESY i/ Comple{ely constrained motion

(b) aqﬁ T H cgd%cH / Incompletely constrained motion
(c) FWT—ITQ:C‘H? cga&cy 91T / Successfully constrained motion
(d) 39dFa @/ None of these

forel el o a1 Sivsdee EaRT 31 T & T T g Bl

The velocity ratio of two pulleys connected by an open belt or crossed belt is

¥

(a) 3eIch TGl ST WY H?:HEECI'IF?F / Directly proportional to their diameters

(b) 3 Tl HI GchA FHTITC / Inversely proportional to their diameters
() 3@ =grEl & o @ @Y FAIIAT / Directly proportional to the square of their

diameters

(d) 3% TEl & FIT @ hch A W@W‘cﬁ' / Inversely proportional to the square of their

diameters

el FAER T He-HAdel X H st & 0 et & Flor-ar sfa @i 82
Which of the following is not suitable for connecting two parallel and co planar shaft?
(a) TR T / Spur gears (b)  gfermer I / Helical gears

(¢) &ReEe @ / Herringbone gears (d 99« 199 / Bevel gear

%&ﬁéﬁﬂ@éﬁma@waﬁmsﬂ?ﬂmwﬁm@mmkmwaﬂm.
S 9 SofeT ST T B, gl

The ratio of indicated thermal efficiency of an engine to the air standard efficiency of the
theoretical cycle on which the engine works is?

(a) @TIeT &&Tam / Relative efficiency

(b) afeFehT G&TdT / Mechanical efficiency

(c) dTYRT Z&Tar / Thermal efficiency

(d) 394 # & HI$ 7€l / None of the above

7 754-TA(A)
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26.

27.

29.

SOl T S 9T & BT A Fgordm &2
How does engine output varies with speed?

(a) Q9 9o ¥ Fa&aT & / Increases with increase in speed
(b) T FooT T Fodr g, JeaH QE?K-]T g 3 g« gear g / Increases with increase in

speed, reaches maximum and then decreases

(c) 99T dglel ¥ TTdTl & / Decreases with increase in speed
(d) 3":!?1?:!?{ H & @15 Jgr / None of the above

el 6-Rfest 4 & g9 &, &% awe & gie & B3l o e 3mder

In a six-cylinder 4 stroke engine, the power impulse will be obtained at — degree of
rotation of the crank shaft.

(a) 90° (b)  180°
(c) 120° (d) 240°

Wm@mﬂﬁm%ﬁmﬁmﬁﬁmﬁwagﬁmma%qﬁmgﬂam
gl &7

Which of the following rear axle type has larger diameter axle shaft for transmitting same
torque?

(a) 3reicenfad ¢ / Semi floating axle
(b) T"f Tarfad %gfr [ Full floating axle
(© (2) 3R (b) AT / Both (a) and (b)
(d) ﬂ?ﬁ H ¥ g 78T / None of the above

forelr siATase F RefaemeRr @1 wf A T gGfT B FA T ¢
The function of the stabilizer in an automobile is to decrease the tendency to

(a) T/ Dip (b)  @iea / Roll

(c) dRdade / Yaw (d) 37Tafd / Pitch

ﬁmﬁ#ﬂa—mmmwmmaﬁﬁqﬁﬂmgmwmmh
Which of the following component transfer the force applied on the pedal to rotating clutch?

(a) YISl 9FNET / Pilot bearing (b) %I 33T §ARIT / Throw out bearing
(¢) @I TT / Pressure plate (d)  FoF HaX / Clutch cover

8 754-TA(A)
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32.

33.

34.

ot AMetase & AIfSTs Torgs vd URIA J1gee &1 3UReT — & R S B

In an automobile Sodium azide and potassium nitrate are used in

(a) SofeT Nid® / Engine coolant (b)  TIA / Airbag

(¢) &eiT / Battery (d) d% g / Brake fluid

BT §oteT H § ST 3R &7 39T HT 3ol HH A & T R sar &1
EGR in diesel engine is used to reduce the emission of

(a) HC (b) PM

() CO (d NOx

o1 TH VI SI5Tel $o1eT 3 I 3§ U T T HEeT T gl §7

What is composition of DEF used in the BS VI diesel engine?
(a) 38.5% IR 3R 61.5% HAIART STel § &1 STl fdeT / Aqueous urea solution made
with 38.5% urea and 61.5% deionized water

(b) 32.5% ?Jﬁ?JTE!-ﬁT 62.5% m;ﬁm STel H FT STl faeraaT / Aqueous urea solution made
with 32.5% urea and 62.5% deionized water

(c) 32.2% 3HANAAT IR 67.5% IHeATeliehcd STol & FTT STollT AT fdeldeT / Aqueous ammonia

solution made with 32.2% ammonia and 67.5% deionized water

(d) 385% 3IHAAT I 61.5% IARAGd ST ST AT Fera=T / Aqueous ammonia

solution made with 38.5 % ammonia and 61.5% deionized water

et 7 & Fla-ar Fuw afFa, 96 9w 3K SR gt & g9 F I8

Which of the following statement is correct regarding frictional power, brake power and
indicated power?

(a) FP=BP-1IP (b) IP=FP-BP
(¢ BP=IP-FP (d) B'Q'{i:w'_cr qa -'ﬁ'é’ &1 / None of the above

dred [Fei® &1 AT Tt fvar e TR, o«

Valve clearance should be measured only when
(a) Boel Il T@T & / The engine is running

(b) ST WAt dAM9AT W & / The engine is at operating temperature

(c) EoTeT 913 3IGEAT H & / The engine is at warmed up condition

(d) BT S 31aEAT F § / The engine is at cool condition

9 754-TA(A)
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36.

37.

38.

39.

3= ofdE b F offefed e — ZaRT ST Qe
The positive plate in the lead acid battery is covered with

(a) THie o5 / Spongy lead (b) oF WFESS / Lead peroxide
(¢) o8 Fewe / Lead sulphate (d) ﬂ'{iﬁ & ¥ #15 =gl / None of the above
MEQREWW,WW ¥F g AT ST B

In a pushrod type engine, valve clearance 1s measured between

(a) dred g 3k gﬂfl’? / Valve tip and push rod-

(b) ared feq 3k T 3 / Valve tip and rocker arm
(c) dred gz 3y ared &Y / Valve head and valve retainer
(d) 351'43,3‘? # ¥ s Fal / None of the above

ﬁé’rﬁg%m—qﬁ———%ﬁma’ﬂﬁamm%l

A condenser is fitted across the CB point primarily for

(@) & & ﬁ%"ﬁf ¥ @7 WHaTaT T8« & [aT / Increasing the potential difference across
CB points

(b) T o9l W Teh Holdd T 9= & TIT / To get a strong spark at spark plug
(c) HrEr ﬁgﬁ uT 3fHeT ¥ F9 ¥ T9T/ To avoid arcing across the CB points:
(d) Bﬂéﬂﬂﬂﬁﬁ / All of the above

HNfaget sawr el 3T et & e it T R H S
Keyless entry uses waves for locking and unlocking.

(2) 37aRad addll / Infrared waves (b)  FTSHT el / Micro waves

(¢) et adel / Sound waves () YA T / Radio waves

O & § Pl A vcaatds @ e 78 87

Which of the following component is not a part of alternator?
(a) Teeadr ?{\f?{E [ Rectifier unit (b)  FceX / Stator
(¢) eX / Rotor (d  feuere War / Split ring

10 754-TA(A)
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41.

42.

43.

44.

45.

3ETHd A ATt 83 ude & 3w ), g\ L HF &
By using a thicker cylinder head gasket, we can

(a) wdET HAITT FHH / Reduce compréssion ratio
(b) HATHIT FH / Reduce knocking

() 3'q§a-?r FHT / All of the above
(d) 3q1{ija-—cr H ¥ @IS 78T / None of the above

6600 3R 9 TH W YoUid T I§ BRIGIF o1 7 Ui Awvg g BT
A four stroke engine rotating at 6600 rpm will have piston stokes per second.

(a) 220 () 3300
(c) 13200 (@ 440

ol o5 wRiis 3l F yge qifee e & G gIaT &

The colour of positive plate used in a lead acid battery is

(a) 9 X / Dark grey (b)  8Ra 9aT / Greenish yellow
(¢) TlFae 3T / Chocolate brown (d)  rer / Black

Wﬁgnﬁgﬁﬁﬁm@ﬁ,mﬁ%wﬁ%ﬁa!ﬁ%&a}ﬁmﬁa@ﬁﬁ_
qEaT g

In a battery plate group of a lead acid battery, suppose there are 10 positive plates, then the
number of negative plates will be

(a) 10 (b) 11
© 9 @ 12

T TE & 3R el 95 v 3kt @1 R aeg e gom?

What will be the specific gravity of a fully discharged lead acid battery?

(@ 117 (b)  1.23
(© 1.29 @ 1.11
fmT & & Fia-ar @gr &2

Which of the following is correct?

(a) 3IeTels IR — WAC 1T = GVW / Unladen weight — permit load = GVW
(b) WfAT 15 = GVW + 3 #R / Permit load = GYW + laden weight

() GVW = 3fefelsd AR+RIAC AT / GVW = Unladen weight + permit load
(d) F9dwd @l / All of the above

11 754-TA(A)




46.

47.

48.

49.

50.

WW—Wamwmmﬁ,WWWﬁﬁaﬁﬁmmﬁﬁ,mﬁm
st & v & waRe 3k & Bem areg &

In a four-cylinder DOHC engine, how many rocker arms will be there on each cam shaft,
provided there are two inlet and two exhaust valves for each cylinder?

(a) 16 (b) 8
() 12 (d) 3‘4’{1?8’ FO H1S A&l / None of the above
T o o & faw, ardr gerar S AEUT & I 8, Sl Qs = qRda

o

FEAT 3R Qr= AsHiAT Fear &

For any cycle, the thermal efficiency is given by —————— where Qs = heat supplied and

Qr = heat rejected <
(@ (Qr-Qs)Qr (b)  (Qs—Qnr)/Qs
{¢) QsH(Qs-Qr) (d) Qr/(Qr-Qs)
HIR H ForaT-Riegned gl

The working principle of carburetor is

(a) UEhel &1 |95 / Pascal’s law

(b) ST FT e / Bernoulli’s principle
(0 3INfHAST &1 Rey=d / Archimedes principle
(d) gt & TRl HT FH / Newton's law of fluids

S A §911 F edfae & 3t gier gl
The use of turbocharger in an IC engine is to
(a) 3IMATATAAT SETAT BT 91T / To increase the volumetric efficiency

(b) I 3M3ICYC & AT §AT JHR H HH FH HT / To reduce the engine size for same
output

(¢) &M ¥ F°AT Fall &7 IYANRT FLT / To use the heat energy from exhaust
(@ F9gFa Fel / All of the above

fereir faehioter ox arar &9 fr s grclr grelr g1

The role of the pressure cap on a radiator is to
(a) <A T FaUATEH F&T=TT / Increase the boiling point of coolant
() gutrelr # #fARFT g HFT T / Relieve the excess pressure in the system

(c) 3fARFT Fag Tea W = HAFd &I / Relieve the excess vacuum when developed
@ 9w @l / All of the above

12 754-TA(A)
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51.

52.

53.

54.

55.

PIT-TT BT Sofe] FASeETo & Ga8 FF SeTH 81N, S0 &7Har ey Ear 87

Which four stroke engine flywheel will have the least mass, provided the capacity remains the
same?

(a) TOFE-TATIET S St / Six cylinder inline engine
(b) ®R-RATAET sAeTSd g1 / Four cylinder inline engine
(c) gaH GICE G CIES] g5 / Twin cylinder inline engine
(d) Teer [T 31 / Single cylinder engine

¥ gafosd aeal W sael Beafer Femfea wee gidr gl

g

Double de-clutching is to be performed on vehicles fitted with
(a) THHAY PR dfFd / Synchromesh gear box

(b) TSI AT TR §ied / Sliding mesh gear box

() &R Ay =R §iFF / Constant mesh gear box

(d) 3"411'&-'61' A EFY? el / None of the above

FR ATclgel YOTell & JTotehel T Tod AT Feficren gIar &

The most common refrigerant used nowadays in the car A/C system is

(a) R410a (b) R 413 a
(¢ R134a (d R132a

ag 3aad St el ardmeTdheleT Yool # AT wET ¥ FEAT T AT §, ——— FHeod ¢l

The component which absorbs the heat from the passenger compartment in an A/C system is
called

(a) HUEH / Compressor (b) TU=+ / Condenser
(c) dar~Ua / Evaporator (d) setax / Blower

dE guel e a FHET W Ol & AAed hddd @ HH HH ST g,
g gl

The system whose function is primarily to inhibit the unwanted slipping of wheels on the
ground is

(a) FYUT [AUAAT YOIl / Traction control system

(b) TE-dTeh g YU / Antilock brake system

(¢) soFcfa® s g [AaIoT YuTell / Electronic brake force distribution system
(d) saaFc=e Taffica WIAH / Electronic stability programme

13 754-TA(A)



56.

57.

58.

59.

60.

al.

ag ueH o TR RRT & s §, g &1

The component which connects the star gears together is

(a) @13 ogied / Crown wheel ’ (b) Ta#gs & / Differential cage

(¢) FuISsT / Spider (1 fF3= 9T / Pinion gear

$e 3187 3R her R 38T & i HT BsT g ETREIGIS

The radial distance between the crank axis and the crank pin axis is called

(a) %% 99 / Crank web (b) % U / Crank throw

(¢) ¥ &S / Stroke length (@ %% Siel / Crank journal
WW—WﬁﬁWﬁéﬁﬁ,ﬁ%3800rpm’ﬂaﬁﬂmg,ﬁ%ﬂ%ﬂ

W U HT &

In a four stroke DOHC engine, when the crank rotates at 3800 rpm, then the camshaft rotates
at

(a) 3800 rpm (b) 7600 rpm
(¢) 1900 rpm (d) EQ'%W # ¥ F15 81 / None of the above
et # e Tftd a7 & Tolw s 3901 gl

The tool used for installing piston inside the cylinder is
(a) TaEest Nor 9Afa / Piston ring expander

() farest Rer ¥diss® / Piston ring compressor

(¢) Tees Rer TR / Piston ring pliers

@ 3HFTH A HIS &l / None of the above

Afeest aR &1 3ifad afishor Fgardl ol

The final finishing of cylinder bore is called

(a) Tafee=sT SIRET / Cylinder boring () fafeest {fAT/ Cylinder reaming
() Tafdwst wSfEa / Cylinder grinding  (d)  TAfaesT gIfA97 / Cylinder honing
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Which grade of oil is mostly used in manual gear box?

(a) SAE 10W 30 (b) SAE 85 W90
(c) SAE 20 W 40 (d) SAE5W30
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For reducing the knocking characteristics of an engine which is useful?
(a) ST H TT SUSA oIS FT IYJET EF.T / Using tetra ethyl lead in fuel
(b) TS AU A &+ / Reducing the compression ratio

() &S LIGIRCC) FI ®H F& / Reducing manifold pressure

(d) ﬂ?ﬁaﬂﬁ FHT / All of the above

faT dig 3R 3T a9AT F FROT R gerd S Rwadr Fgelldl gl

The failure of a material due to constant load and high temperature is called
(a) T fawerar / Creep failure (b)  ®fear fawerar / Fatigue failure
() YUARY fa%eldr / Elastic failure (d) 3"‘311‘533'?[ H ¥ FI5 78T / None of the above

e & a8 R forgsd aRomer el g gxar &,

The type of gear which will not have a resultant axial force is

ﬂ(a) g IR / Spur gear ()  gfeieer 1R / Helical gear

(¢) a7 R / Worm gear (d) gReEs @R / Herringbone gear

SINIT &7 98 TpR of 37efT s 7 98T T Fhal &

The type of bearing which can withstand axial load also is

(a) W JAR SIRAT / Taper roller bearing
(b) dfel §ANIT / Ball bearing

(c) 'Hoé‘ SR / Needle bearing

(d) e 9ITT / Shell bearing

URARSF Fodfeled $HSell H, HARAH dlecst H 3cTesT BT
In a conventional ignition coil, the maximum voltage will be generated in
(a) wrafA= _EDTST-?I' / Primary coil () fadEs sﬂ_@f / Secondary coil
(¢) Ysad ;E?’ﬁ %15 / Ignition coil core (d) Erer 'IﬁRA' { CB point
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In case of CB points in ignition system, the dwell period means

(a) FHAT Id ﬁﬁ d¢ & IS & / The time when the points are closed
(b) THT Fd ﬁﬁg ?%FT gld £ / The time when the points are open

(c) HHT F9 TATH Tl &@TaT & / The time when the spark plug fires
(d) 3‘qu§|—?—|’ # O $S 18T / None of the above

Te aed # & g § N Fad v wolle gl g, O 59 & ®7 A geliep o
ST el B

A vehicle is having two axles and only one is live axle, then it can be classified as

{a) 4 %2 ®) 2 x4
(@ 2x2 d 4 x4
el TiEE aR TFF ¥, 96 F g H aged ——— I el T @ AT ST §

In a spoked wire wheel, the weight of the vehicle is carried by the spokes fitted
(a) IFFH F g & Y el $T9T 9T / On the lower half of the wheel hub
(b) TFH & T & MY FIU HAET 9T / On the upper half of the wheel hub

(¢) TFh & gF & IUU 3R e @Al MW 9X / On both upper and lower part of the wheel
hub

(d) sq{iﬁa # q IS a1 / None of the above

smafad & wF VI Soiel #, ORel Tsseq, &1 3T H/9X g & AT fmar
STl &1
In modern BS VI diesel engines, the fluid adblue is used to be sprayed into/on |

(a) $YT WOt / Fuel system (b) &7 &S / Combustion chamber
(c) WA JOTRT / Intake system (d) &% womell / Exhaust muffler

fordT 3TEUS aed &, PR el @ 2L, 2H, 4L 3R 4H Reg §1 ®i9-ar T, 99 e |
Hitehaer Fenfad JaTepT 3R HYOT geTe HL|

In an off-road vehicle the gear lever has 2L, 2H, 4L and 4H markings. Which gear when
selected will provide the maximum possible torque output and traction?

(a) 2L b)) 2H
(¢) 4L (d 4H
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Which among the following automatic gear box will give the quickest shifting of gears?

(a) TaITeId ﬁ?_-:[ﬁ FOT / Automated manual transmission

(b) wcaeT {Avemas PREied / Direct shift gearbox
(¢) uREEfFas AR F9RT / Epicyclic gear transmission
(d) =TT aRad=iTr H=RoT / Continuously variable transmission

7 & 7Y farg W o fdeg @5 & O Th AT &9 @ adfad @7 F A dioe
NG —— gm|

For a simply supported beam with a single point load at the middle of the beam, the BM
diagram will have

(a) FW Fr AR AT ﬁﬁiﬁw HT?% / Triangular shape pointing up

(b) T T 3R 3T PSRRI / Triangular shape pointing down

(¢) FIW & I MY & a1y Wae@+ g% / Parabolic curve with upward crest
(d) =T & 3R AT F T Waa@sw g% / Parabolic curve with downward crest

R YA ST F Fla-dr yonel SEa] Pied wiafkar &dr ¥

Which system provides better throttle response in a petrol engine?
(a) SIr 3r 315 / GDI (b) U©H 9 TH S / MPFI
() TH 9 T 37E / SPFI (d) 39ded H § *I AT / None of these

3T IRA Hg B R A, AT SoiT & T sle-ar de 3ugEd gem?

In extreme hot weather conditions which engine oil will be most suitable for an engine?

(a) SAE 5W30 (b)  SAE 15W40

(c) SAE 20W40 (d)  SAE 20W50

a8 Uedh ot Trafier aferq @1 319 3me & &1y Sisar g, gl
The component which connects the steering gear box with the drop arm is
(a) 29 & / Drag link (b) & s / Track rod

() TcafRer awer / Steering knuckle (d) HE AMFE / Cross shaft
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A vehicle has 15 teeth gear on clutch shaft and 30 teeth gear on the engaged layshaft. If the

drive is taken from a 20 teeth gear of layshaft and given to a 40 gear teeth on main shaft,
what is the overall gear ratio?

(@) 4:1 b) 1:4
(c) 056:1 (d) 2:1
Tl 3ref cenfaa et @aAToT , g1 X @ ' Lol giar B

In a semi floating rear axle construction, the drive shaft has to take up
(a) dTellel STl / Driving torque (b)  dTEsT FT ¥R / Weight of the vehicle

(c) Wﬂﬁ gfafshar / Torque reaction (d) (a) 3R (b) /(a) and (b)

dgR ART IARTH & T, SIA-07 FU7T T8 £2

For better ride comfort, which statement is correct?

(a) T GeIATA / Sprung mass < HEUIT SEIATT / unsprung mass

(b) T ZSTAT / Sprung mass = HTEHIT GeTHTT / unsprung mass
(¢) HTEYI gedH / Unsprung mass < T gegHTT / sprung mass

(d) T A UG AT geTAH et o Hqad / Independent of both sprung and

unsprung mass

F 7 8 Ha-91 30T a5 & 2R TlRicd F ggrdar s

Which among the following will help in the directional stability of the front wheel?
(a) Yifailed #TEeX / Positive castor (b) TAIfeT FRET / Negative castor

() YT FRCX / Zero castor (d) mﬂa—?{ H ¥ FIS gl / None of the above

18 754-TA(A)



